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ex : say you have a production
function i Q = FCK

,↳ = K'[ •
5

13=2 W = 2

first : calculate the long
run expansion path

T¥=^÷ ⇒ 1¥. -- ¥

.EE?.i--.s.--2-z---E--i



K

ypy
expansion
*
"

32

path
'

24 - - - - -
- -

-

-
-

-

¥

i 513 expansion16 - -
- g- - - - -

--

•

,

•

! I i
Path/ H%Isqq+

,
I

r
I I

← -

ii. .

'

'

,

¥:÷÷i÷
- ☒ 1 Ismat, %

\

¥%tzz I
Q-46I

' ¥8
; !%€qg

'

Ishrat
i I. iQ=8 I

4 8 16 24 3236
L



Say we are currently producing 16
-

Units of Q at min . cost.

Calculate 152L

K=L

16=1552^5
16 = k.sk

"

16 = K =L

Say we want to change output to 8units In the

SR . What is our k&L
?

8=16-52.5
8 = 4 v5
2 =L

-5

4 =L ( 4,16)



What if we produced 8 units in the

LR ? What is our Ktl ?

8=14%-5
,
K=L
,
8=15=L

Say we want to change output to 24units In the

SR . What is our k&L
?

*= 16
24 = K'5165
24 =E. 4 ( 36,16)
or =L

's
= > 2=36

What if we produced 24 units in the

LR ? What is our Ktl ?

24--14%5,4=2,124,24 )



How much can we save by transitioning to

LR production ?
104 96

(36-21-16-2) - (24-21-24-2)
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